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i A man leaves home for a cycle ri
: : ycle ride and comes back home after an half-an hour ride i
distance of ope km. What is the average velocity of the ride? - Ui

a) lOlfm/s b) 0.5k/m ¢) 2km/s d) zero
Th.e displacement- time graph of 2 moving object is a straight line. Then
a) its acceleration may be uniform b) its velocity may be uniforr;1 c) its acceleration
nlay"be variable d) both its velocity and acceleration may be uniform
The boiling point of water, on Fahrenheir scale is: :
2)100° 5180 ° c) 212° d)32°
The unit calorie and joule are related as
a) lcal=4.186] b) 4.18cal=1J ¢) 17=0.24cal d)1 cal =0.24]
V. An object is placed in front of a concaye mirror at a point between its curvature and focus. The
Image will be formed at:
a) A point between the focus and the centre of curvature
b) The centre of curvature
¢) A point beyond the centre of curvature 23
d) The focus
vi.  The focal length of convex mirror whose radius of curvature is 30cm will be:
a) 30cm b) 60cm ¢) 15¢m d) 7.5 cm

vii.  Current in a circuit flows:
a) in direction from high potential to low potential
b) in direction from low potential to high potential
¢) in direction of flow of electron
d) in any direction
ii.  Onincreasing the resistance in a circuit, the current in it:
a) decreases b) increases ¢) remains unchanged d) nothing can be said.

X. IEA is short form of:
a) Indian Energy Association
d) International Eco Academy

At neutral point, the resultant magnetic field is: e
a) Maximum b) Zero ¢) Along E-W d) Inclined at 45°from horizont!
! 1

b) Indian Eco Academy ¢) International Energy Agency



Xi.  The Stren
gth of the electromag
e net i
a) r e‘.’trsmg the direction of cﬁnen(:an P o by
using alternating current i
: | of high frequ
g; :‘Cl‘easmg the current in the cgil o
b eereasing the number of turns of coj
coil
Xii, Z’)Va:vcs formed over water surface are
Q) transverse b) longitudi
(e s ) \gitudinal c)bothaand b d of <&
g ompletes 24 cygle: in 0.8s. The frequency of the wave is gt
Xiv, he S.I uni ", ) 24Hz ¢) 12Hz d) 814,
N ; ;xmt of pressure is: S
) Nem® b) Pa
¢)N S
B The Property of inertia is more in: ) e
a) a car
) b) a truck c) a horse cart d) a oy car~=——
Question 2
e
4 State three ad s
B ca w.antages ot: an electromagnet over a permanent magnet. | i3
uy 2 ame. the physical quantities of which the units are % a) o'mn v b) coulomb 2
Uk Xplain how do bats locate the obstacles and prey in their way. iz
Vs, A convex mirror forms an erect image of an object of the size of object. If radius of curvature of
convex mirror is 36¢m, find the position of object. i2}
. A given mass of water is cooled from 10°C to 0°C. State the volume changss observed. Represens
_ these changes on a temperature-volume graph. izl
Vi. Explain an egg sinks in fresh water, but floats in a strong salt solution. =
/P, Define a secondary cell. Give one example of 2 second cell : |}
p any
Juestion 3 [1e}
4~ A body weighs 200gf in air and 190gf when completely immersed in water. Calculate: 24
\»a) the loss in weight of the body in water, —

\“b) the upthrust on the body. : e 1
il What is neutral point? How is the position of neutral point located with use of a compess needie? [2]

. ol
ii.  What do you understand by atmospheric pressure? Write the numerical value of the atmospheric -
]‘-

pressure on the surface of the earth in pascal. : ' T S
The graph shows the velocity -time graph for two bodies X and Y moving in the same direciio

y{' 3 4 :1
Name the body which has greater acceleration. Why? i
w
&
3
>
Time(s) ==

Two bodies A and B of same mass are moving with velocities v and 2v respectively. Compare their
wo

a) inertia b) momentum. 2l
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I 8) Rl o the wrwvelengss o taso somd wames i zir s 3-5. Find the ratio of their fequencies. [1]
b) Draw 4 Sisghoment- tiene gragh of a wave and mask on it, the amplitade of wave by e lener

umd wavelenygh of wave by S keiver 1., 24
i, Wihat & the Ellowing symivols sepresent i the dlectric cireait? Bl
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j fvg W resistor, two different types of meters labelled ‘A’
You are vmammwva,achalfcy,z sistor, ) X
M‘?'V’,Ywwgqu?dwnmﬂchmndwmmddxpaemnldﬁaememmﬂmm

; mark the
MwaekwidWmuMwwmhmmmtkymcmm [4]
irection of current in each component. 4




Question 9

a) Will the person be able to hear the bell after the sir in the
container is completely removed? Why?

i
b) How does the speed of sound get

affected when there is
an increase of moisture in the air? i)
¢) State one characteristic of the medium required for
propagation of sound? 113
3 ; \ m
S(u. a) State ohm’s law.

A P, 4 |
b) How is the resistance of a wire affected if its (1) length is doubled and (II) radius is doubled? 21

iii. The speed of sound in air is 320m/s and in water it is 1600m/s. It takes 2.5s for sound to reach cenma :
listance from the source placed in air.

a) Find the distance.

.

*
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e Answers to this Paper must be written on the paper provided separately.

You will not be allowed to write during the first 15 minutes. This time Is to be spent in
reading the question paper. The time given at the head of this paper is the time

allotted for writing the answers.
Section A is compulsory. Attempt any five questions from Section B.

The intended marks for questions or parts of questions are given in brackets ik
SECTION A

. (ATTEMPT ALL QUSTIONS)

i QUESTION 1
| Choose the correct alternative: (10)
1. Global Warming is a result of an imbalance of on earth.

a. Carbon b. Nitrogen c. Helium d. Argon
2. The diameter of the earth decreases towards :
a. Poles b. Equator c. Higher Latitudes 4. Longitudes

3. This layer lies above the Thermosphere.

i a. Troposphere b. Stratosphere c. Ionosphere d. Exosphere

Electrically charged particles called create a sheet of display like Aurora Borealis.
: a. Ozone b. Ions c. CFC d. Jet stream ‘

5. Most volcanic eruptions take place near:
a, Coastal areas b. Deserts c. Plate margins d. Mountain

The process in which the loose grains of sediments are converted into rock
a. Cementation b. Intrusion c. Lithification d. Oxidation

7. Taj Mahal is the turning yellow due to:

a. Global Warming b. Acid rain c. Eutrophication d. Bio-magnification
Which of the following is not true about noise pollution?

a. causes high blood pressure b. Insomnia c. Hearing loss d. Cancer
Which type of rainfall occurs on the windward side?

a. Monsoonal b. Convectional c. Orographic d. Cyclonic

10. The other name of crust is
a. Biosphere b. Atmosphere c. Lithosphere d. Hydrogen

R

QUESTION 2
(10)

Define the following:

s gxidation

2. Ozone layer
3. Relative Humidity
4. Ocean Currents
5. Global Warming




: (
QUESTION % ark and label the following: lq)
ms

; )
On the outline of wor Id map,

1. Arctic Ocean
Yrakensberg

3. L:ﬁndinm’iﬂl‘l highlands

4 Canodian Shicld

S. Caspian Sca

6. Gulf of Lawrence

7. Brazilian Highlands

8. Central Japanese Alps

9, Great Dividing Range

10. Indian Ocean

SECTION B '
(ATTEMPT ANY FIVE QUESTIONS)
QUESTION 4_ -
Give one point each how atmosphere and temperature make earth a habi € :
a. 1 2)
b g;n“c,l; neat labelled diagram to show Redford Level expe.nment. ~0)
c' Give three points of difference between latitudefs 'and longltude(s}. 3 G
d: Calculate the time at Singapore (104° E) when it is 6.00 pm at Greenwich. 3
QUESTION 5
a. State any two characteristics of Revolution. @
b. Write two points of difference between core and Mantle.

)]
¢. There are two transitional zones between the two consecutive layers of the interior of

the earth. Name them and state thejr chief characteristics, ©))
d. Give geographical reasons:

(€)
i. The period of twilight and dawn increases pole wards,
ii. The asthenosphere is in semj — melted state,

|
1
QUESTION ¢ : ;l

d. .G.ive geographica] reasons;

3
i ;gncou.s rocks are also called Primary rocks. e
1. Alluyia] Plains are regarded ag granaries of the world
QDESTIO&7
a. What js known 4 exfoliation? :
d8 ko 1? Name ¢
: G“./hat;; e e € the procegs Involved jp j¢ 2
1ve three pojny ]
Ppoints of difference between Mecham'cal and Chemica] weath o
Cring.  (3)



d. Give Bcographica] reasons :

.i.. Chcmical Weathering occurs in moist and cold climate. -
1. Vegetation prevents dismlcgrahon of rocks
QUESTION 8
a. Define: (2)

c. State any three characteristics of Labrador current 3)
d. State one characteristic feature of each Oyashio Current and Gulf stream 3
QUESTION 9
a. In which layer of atmosphere do all the Wweather conditions Occur? Name importass
greenhouse gases, 2)

b. Give two points of difference between land breeze and gea breeze. 2)
. Draw a neat labelled diagram showing vertical rays are hotter than slanting. 3)
d. Give geographical reasons: 3)

i. We find it difficult to breathe when we climb mountains,
ii. A desert region has a high range of temperature than a forest region.

QUESTION 10

a. What is cyclonic rainfall? @
b. Name four chief forms of condensation, (2;)
C. Give geographical reasons: : . 3)

i. Convectional rainfall occurs every day in equatorial region.

ii. The total volume of water in the oceans and seas remain c.:opstz.mt. 3
d. Define precipitation. Explain briefly the three forms of precipitation. (

QUESTION 11 o

a. Explain what is radioactive pollution. o

b. What is known as smog? What harm is done by smog especially in w.inters.e T
; | ffects each of soil pollution on human beings and environment.
c. State any two e =

d. Stateany three measures to save energy.



C e

GUARDIAN SCHOOL

STD: IX FINAL EXAMINATION 2022-2023 Times
Date: 13/02/23 Sub: GEOGRAPHY Mt::":;? ;T)"
raper provided .vepa;;-l;-l;. ------ By

Answers to this Paper must be written on the
o You will not be allowed to write during the first 15 minutey, This time 1y 10 be
reading the question paper. The time given at the head of this paper 1y 4 Yo ”mépem in

allotted for writing the answers.
o Section A Is compulsory. Attempt any five que
» _The intended marks for questions or parts of questions are given in brackers []

SECTION A
(ATTEMPT ALL QUSTI ONS)

stions from Section B.

QUESTION 1

Choose the correct alternative:
(10)

1. Global Warming is a result of an imbalance of on earth.
a. Carbon b. Nitrogen c. Helium d. Argon

2. The diameter of the earth decreases towards %
a. Poles b. Equator c. Higher Latitudes 4. Lonthudes

3. This layer lies above the Thermosphere. :
a. Troposphere b. Stratosphere c. Tonosphere d. Exosphere

4. Electrically charged particles called create a sheet of display like Aurora Borealis.
a. Ozone b. Ions ¢. CFC d. Jet stream

5. Most volcanic eruptions take place near:
a. Coastal areas b. Deserts c. Plate margins d. Mountain

6. The process in which the loose grains of sediments are converted into rock

a. Cementation b. Intrusion c. Lithification d. Oxidation

7. Taj Mahal is the turning yellow due to:
a. GloBal Warming b. Acid-rain c. Eutrophication d. Bio-magnification

8. Which of the following is not true about noise pollution?
a. causes high blood pressure b. Insomnia c. Hearing loss d. Cancer

9. Which type of rainfall occurs on the windward side? b
a. Monsoonal b. Convectional c. Orographic d. Cyclonic
10. The other name of crust is
a. Biosphere b. Atmosphere c. Lithosphere d. Hydrogen
QUESTION 2
(10)

Define the following:

1. Oxidation

2. Ozone layer

3. Relative Humidity
4. Ocean Currents
5. Global Warming




= following: i
QUEST] f world map, mark and Iabel the ) i
On the outline © |
Arctic Ocean
Drakensberg . :

Scandinavian highlands .

l.
2,

3 ,
4 Canadian Shicld

5. Caspian Sca
6. Gulf of Lawrence
7. Brazilian Highlands
8. Central Japanese Alps
9. Great Dividing Range

QUE

10. Indian Ocean

4

(=W -

SECTION B
(ATTEMPT ANY FIVE QUESTIONS)
k

QUESTION 4__
a. Give one point each how atmosphere and temperature make earth a habitable
' Q

planet. '
b. Draw a neat labelled diagram to show Redford Level experiment. ~l)}
Q3 QU

c. Give three points of difference between latitudes and longitudes. ;
d. Calculate the time at Singapore (104° E) when it is 6.00 pm at Greenwich. @

QUESTION 5
@

a. State any two characteristics of Revolution.
b. Write two points of difference between core and Mantle. Q
c. There are two transitional zones between the two consecutive layers of the interior o

G ¢

the earth. Name them and state their chief characteristics.
@)

d. Give geographical reasons:
L. The period of twilight and dawn increases pole wards.

ii. The asthenosphere is in semi — melted state.

QUESTION 6
- . \/ .
a. Give any two points of difference between Young Fold Mountains and Old Fold

Mountains,
b. State any two characteristics of Metamorphic Rocks. 4(22)

¢. Explain briefly any three landforms created by volcanoes. (

d. vae geographical reasons: ,
I 1gncou.s rocks are also called primary rocks. (
11, Alluvial plains are regarded as granaries of the world

QUESTION7 -

a. What is knowp as exfoliatio
R n? N, : ot
b. What s bolagiee e ame the process involved in jt. @
(2

¢. Give three pojnt '
S of difference between Mechanical and Chemica] weathering ()

[

)
)
)

2



d. Give geographical reasons :
i. Chemical weatherin M
1. : g occurs in moj g
ii. Vegetation prevents disintegrationlsotfarno(il:()ld Sy <
CKS.
QUESTION 8

a. Define:
i. Hydrosphere ii. Ebb @
b. Explain the two categories of o 4
. Cean currents which ivi
c. State any three characteristics of Labrador current e depth. (2)
d. State one characteristic feature of each Oyashio Current and Gulf str (3)
eam.

QUESTION 9 3)

a. In which layer of atmosphere do all th Ea
S ¢ weather conditions occur? Name importaat
b. Give two POllnttfe of difference between land breeze and sea breeze g))
c. Draw a neat labelled diagram showing vertiéal ra '
X : s are hott i
d. Give geographical reasons: ? ST tanchuting. (3;)
i. We find it difficult to breathe when we climb mountains. &

ii. A desert region has a high range of temperature than a forest region.

QUESTION 10

a. What is cyclonic rainfall? )
b. Name four chief forms of condensation. 2
c. Give geographical reasons: 3)

i. Convectional rainfall occurs every day in equatorial region.
ii. The total volume of water in the oceans and seas remain constant.

d.” Define precipitation. Explain briefly the three forms of precipitation.

G

QUESTION 11

a. Explain what is radioactive pollution. .
b. What is known as smog? What harm is done by smog especially in winters.

c. State any two effects each of soil pollution on human beings and environment.
d. State any three measures to save energy.

(€)

@)

@)
€)
€)
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SECTION I (40 Marks)
(Attempt all questions from this section)

Question 1 "
Choose the correct answers to the questions from the given options: [15]
i  The main site for synthesis of lipids is
a) Vacuoles b) RER Golgi bo
ii.  Generative nucleus divides forming QCeleibody
- male auclei b)3 mate nuclei c) 2 female nuclej A3 rer—= bl .
i  Sessile flowers don’t have ek mel
. a) Scent b) Irregular shape \SFredicles d) Petals
tv.  End product of glycolysis
2) Acetylcoenzyme A B)PEP | gef§ruvate d) OAA
One nucleus of the pollen tube and secondary nucleus of the ovum grow into
a) Stigma b osperm c) Anther d) Stamen
Respiration in living beings is a/an reaction.
b) Endothermic ¢) Photo-decomposition d) Electro chemical

13 Exothermic
Two friends are eating together on a dining table. One of them suddenly starts coughing while

swallowing some food. This coughing would have been due to improper movement of
b) Neck c) Tongue WEpiglottis

a) Diaphragm
Caecum is small bling sac which hosts some symbiotic microorganisms. From it a small finger like

vestigial organ arises. This organ is called:

a) Parotid gland b) Vermis ¢) Vermiform appendix d) Lacteals

Which of the following is an example of a hinge joint? -

a) between humerus and pectora) girdle b) between'knee joints ¢) between carpals

d) between carpal and metacarpal

The pigment associated with skin is A
2) Melanin b) Keratin ¢) Myosin d) carotene
The maximum volume of air that can be released from the lungs by forceful expiration after deepest

mspiration is called the : . b D
a) Total lung capacity b) Vital capacity c) Tidal volume d) Vemtilation rate

Which one of the following is NOT correct?

ii‘




enters the lungs

- + pefore it
a) The nasal cavity warms a:: h:tl;:m * lobes, but the left lung has only
b) The right jung is composed 0 o e fnction.
A es and vital capactty i st wall.
¢) Lung volum : < in direct contact with the che e S
i | pleura is i 3
d) The visceral p ; e
located in ¢) Geneva o R W AT
xiii. WHO.headquancrs are by Berlin c) \
a) Paris
i Vaccines are:
3 a) An extract of toxins secreted by b"“'e’i“b
b) An extract of dead and weakened microbes. i,
¢) Strong chemicals obtained from fung'i ik L
d) Chemicals that are applied on the skin to ki E 2 o3
xv. The expanded form of AIDS is: i Sé
a) Active Immuno Deficiency Syndrome w,, Y
b) Active Immuno Deficiency Status
¢) Acquired Immuno Deficiency Syndrome
d) Acquired Immunity Deficiency Syndrome
stion 3 _
Question 2 ) ’QK
)
llowing: . . :
» Na.me ﬂ;ot:iﬁed sfbaceous glands found in auditory canal which secrete ear wax. ,)) ?‘}E‘S
| 8 p s T
ii.,  The method of disposal of waste by burning, LS
i in thi f small intestine.
ji  Bile duct opens in this part 0 : -
v, The plastids that give red and orange colour to fruits and flowers. . wtiom
v. Lymph vessel present inside the villus. - a) D
| ' b) V
; t and mention the category for the rest: ) )
b) Choose the ODD one out an - . o
: - 0

i  Ilium, Sacrum, Ischium, Pubis
ii . Pesticides, old computers, Tissue paper, elec;tronic toys
ii.  Ethyl alcohol, carbon di oxide, starch, oxygen absence\
iv.  Gram, pea, coconut, castor
v. Pollen, style, stigma, ovary

¢) Given below are sets of five terms each. Rewrite the terms in a logical sequence beginning veg

the word that is underlined: )
J \ T s
‘ L Seed, Seedling, Pollination, Germination, Fertilization )

1. Metacarpals, Radius, Humerus Carpals, Phalanges: } )

| iii.  Seed coat bursts, hypocotyl elongates, radicle grows downwards, hypoéotyl forms loopad
) the soil, epicotyl elongates. '

iv.  Larynx, Pharynx, Bronchioles, Nostrils, Alveoli
v.  Rectum, Pharynx, Oesophagus, Duodenum, Stomach

d) Match the following:
— -
Column A Column B
L Inspiration a) Plastic
ii. Patella i
i b) Mobile batteries

¢) Elbow joint



i
N, 4 dv. Vector d) Ribs move upward ad out ward ’
St ¥, v. Anemophilous e) Mosquito :
% ! f) knee joint

] g) Ribs move inward and downward

h) Maize flowers

¢) Mention exact location of the following s

& Pancreas
it. Nectaries
g jir Stermum
. Centrosome =i
. Diaphragm
SECTION 11
; (Attempt any four from this section)
Question 3 -
i a) Define digestion [}
! b) Difierence between Cell wall and Cell membrane (Permeability). 2]
c) Why is it usually difficult to demonstrate respiration in green plants? 21
d) Draw a labelled diagram of the generalised vertical section of the mammalian skin. 51
| Questiox/x_-t/

__a) Define fertilization ~~ _ _ B s s S § § SR
b) Why is the cell generally of a small size? , 21
c) Differentiate between anerobic and aerobic respiration. (Reaction). — 121

151

Iy
d) Complete the following paragraph by filling in the blanks (i) to (x) with appropriate words
in the thigh, two long bones, the inner (ii)

The hind Limb consists of a long bone (i)_ :
and the outer (iii) in the shank, seven (iv) ) bones in the ankle, five long(v)
in the toes. The forelimb consists of

bones in the middle of the foot and fourteen(vi)
along bone (vii) in the upper arm and two long bones (Viif) and (ix) _ in the
lower arm. The wrist has eight bones called (x) Hi it

- osti
~ ﬁ) Write full form UNO [1]
2
12}

b) ertc two uses of antibiotics.
inguish between the flower and inflorescence (Definition).
i : 51

~ ©) Dist
d) Given below is a set of six experimental set-ups (A-F), kept in this state for about 24 hours
In how many flasks, the different plant parts have been kept under observation?

What is the purpose of keeping a test-tube containing limewater in each flask?
In which tube/tubes the limewater will turn milky? _ —

i

i
i

~ iv.  What is the purpose of the set-up F?



; eriment? -
v. What conclusion can you draw from this exp

d) Observe the

Question 6

a) Name the enzyme which digests fat in the ileum -
b) Why the seeds sown deep in soil fail to germinate. .

estion 8

—l g W
¢) Name the function and location of corolla

¢) Di
\ d) Ge
i) Jdentify the organ. e) D

b) Wi
d) The picture given below is apart of the alimentary canal. Answer the questions that follgy.

ity Name the digestive Juice secreted by it.

3 3 i}y What is the significance of hydrochloric acid in the digestive juice?

f  iYMention the enzyme in the digestive juice. What is its action on food)

vy What is known as glycogeAnolysis?

Question 7

a) Define vasodilation

b) What is the difference between leukoderma and albinism?
¢) Mention two advantages of cross

(conditions),
pollination,



d) Observe the given diagram and answer the following questions:

L2 (5}
w From g
- (i) Name the process exp),: ‘
diagram, o thc.givcn
Alveoli ii) What type of air i :
iy (ii) YPe ol air is present in the bronchioles?
Y (iii) What type of bl monary anc,.ﬂ
Vi iii pe of blood does the
s contain? » 4
Capillary
vein (iv)What type of blood does the pulmonary vein
@ contain? ‘
Red cell

X Endothelial el ") What is called supplemental air?

l a =

stion 8

) What is double fertilization? _ 1§
) Write location and function of micropyle? o e TR 2]
) Distinguish between wind pollinated flowers and insect pollinated flowers (examples). 21
) Germinated grams are considered highly nutritive. Give reason 2]
) Draw a neat labelled diagram of a mature bean seed. 31
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General Instructions: Answers to this paper must be written on the paper provided separatel
allowed to write during the rst 15 minutes. This me Is to be spent in reading the ques on

the head of this paper is the time allowed for writing the answers.
{l) This poper comprises two sections- section — A and section B.
GChfrom two books

(i) Attempt all the questions from Sections A.
(i) Attempt anyfewrquestions from section B, answering at least two question e
(Iv) The intended marks for questions or parts of questions are given bracketsf 1.
Section —A (40 Marks)
[15)
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Question 2/
-
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Write a letter in Hindi in approximately 120 words on any one of the topics given below
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Section B (40 Marks)
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m: Rut:l the extract given below and anwer in Hindi the Question that follow:
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Question 6, Read the extract given below and anwer in Hindi the Question that follow:
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2ad t in Hindi the Question that follow:
Question. Readlthe extract given below and anwer
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Question p/kead the extract given below and anwer In Hindi the Question that follow: .
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Ques}ibn 9. Read the extract given below and anwer in Hindi the Question that follow:
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Question 10. Read the extract given below and anwer in Hindi the Question that follow:
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